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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1

Ans

Q.2

Ans

Q.3

g T aEJ & 9T FHH Ui 9T T gt g S1ar § df, S|eT AATdeT Questiongg c1493201

ID:

Eﬁmmﬂﬁaﬁ%ﬁnwﬁmgwnﬂmmgq Status :Answered

Chosen

If the velocity of a body becomes two times its initial velocity, its kinetic energy becomes Option

n times its initial kinetic energy. What 1s the value of n?

X3
v, 4
%36
1
Xy 2
y r = Question ID :9864493540
T U AGh U TN TATS AT 8, A TGRS bl A kel & | T8 SR04 & on 1D Eseaa
P T ATHF @ %r) Chosen Option :2
‘When a bullet is fired from a gun, the gun moves in the opposite direction. This illustrates
Newton’s:
71y &1 9ger Fad
/<1 first law of motion
atfer &1 e wo s
5 third law of motion
it T GET o
/3 second law of motion
TTer AT g 3R gERT e
<4 first and second law of motion
Q“esig‘?9864493695
Status :Answered
Chosen
Option :
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Ans

Q4 e Hora i ohees &9 # T fahar I g2

g% W Aegas faar & AR ot wt & s8d = R #ia @ sqgae
fafea & &

CE
e IRET & TS BT T 99T I&T ¥ @Ng 2

HAAT:

1. Frotel IRET H BT FT 3YAET FIA grel ST HF T&AT T Gi2d fohar
STTaTT|

2. Floet IRET H fordll ot 1T @ Bl F 3T T T AT TET L

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Use of cell phone is strictly prohibited on the college premises.

Assumptions:
1. Students using phones on the college premises will be strictly punished.
2. No student is allowed to use a phone on college prémises.

1 3k 2 g AfRa &
<, Both 1 and 2 are implicit

dar1dkafr2@RARa e
<, Neither 1 nor 2 is implicit
Faa AW 1 Afea &
x5 Only assumption 1 isamplicit

Had HFJATH 2 e &

v, Only assumption 2 is implicit

Question ID :9864493097
Status :Not Answered

Syngamy is defined as: Chosen Option :--

U 3 & faE=a

Ans

Q.5

#< | the fission of one egg
TEHITIIHT 3 HT YEHIULHT 7 H T T Horded
7, the fusion of one of the sperms with the synergid
TeF T & s
#< 3 _the fission of one sperm
32 F HTT YHIULHT A F Tk T o

o 4 the fusion of one of the sperms with the egg

Question ID :9864492101

Status :Answered

Chosen Option :2
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aIff GaN & &9 F 391 §a8 81 396 qeA W AN FEREATS B
T off| 98 HiT §7

His greatest achievement in the field of religious reform was the setting up of the Brahmo
Sabha and the Brahmo Samaj. Who is he?

b e oy
7| Swami Vivekananda
=T TH AT T
+', Raja Ram Mohan Roy
=T, $foua AT s
#< 3 Dr. Bhimrao Ramji Ambedkar
T EAEE B
/<4 Swami Dayananda Saraswati
OO ey gE & WAR & HRU I THI
@I SR H T G

Plants bend towards light due to the diffusion of the
hormone on the other side of the shoot.

Elncacy
¥ auxin
Heratae® 37 (abscisic acid)
#5. abscisic acid
HTASIhISaa
#< 3 cytokinin
IHEIEC
# 4 gibberellin

Q7 Zr FEaTst & UGS 0324 g TN W Us WEAT 1.2 B gEY FEAT 4T g2

The product of two numbers is 0.324. One of the numbers is 1.2. What is the other
number?
Ans W 0.27

<5 0.027
<3 2.7
<4 27

Ans

Q8
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Question ID :9864493456
Status :Not Answered
Chosen Option :--

Question ID :9864492660
Status :Answered
Chosen Option :1

Question ID :9864493985
Status :Answered
Chosen Option :2
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Ans

Q.9
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o aTT geaeat # I A & T AR I 97 F F Fa T (@) Ty
Tl F TREINT T Y IFEOT (FIAT §) FA &

CEGEUH

SUETR T AigeT &1 T AfgalT AT

s
1. $& AW AT &
2. T Fhrel AT g

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

Most lawyers are females. Some females are mothers.

Conclusions:

1. Some mothers are females.
2. Some lawyers are mothers.

AT TR 2 HJEIUT LT g
#<1 Only conclusion 2 follows.

Fae w1 HEOT HLT g
+', Only conclusion 1 follows.

1 3T 2 & 77870 78 F E

#<3_ Nether 1 nor 2 follows.
1 AR 2 2= 3o B 2|

74 Both 1 and 2 follow.
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Question ID :9864494143
Status :Answered

Chosen Option :3
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Ans

A & 717 gEer 9 AR 3EF 3R W 9T @ e 3T ey &
TTT FL-
e (NEET) & 8§ 9fie & &1 o arer 33afiat & for f=fafa oF a7
1
1. ggremeit &r 12487 Fewm # Sheafeae, #ife & e @ &7
FTaA 50% Wigd 3ecior g =R
2. 31.03.2018 =t wfamedf g 17 a¥ gl =fge)
3. aftameit garr e 1247 & Sefaam, #iTdr = mmeTes T & v
TIA AT AT

giremeft 1 : 7 Hr IR 14-05-2001 &, 3@ 710, sifh, wETrEs
o AEfEseT # 40% 3 g & E

gereft 2 : eTrH fr IR 16-08-2000 g, 3T AS9A, Higdr =
THITTET & 60% 30 greg o F

e (NEET) wdrem forasr &g fF& oream urea &2

Read the given information and decide the appropriate course of action.

NEET examination has laid the following conditions to qualify for appearance in the
NEET Exam.
1. Candidate should pass Grade 12 with a minimum of 50% marks in Biology, Physics
and Chemistry group.
2. Candidate should have completed 17 years ason 31-03-2018.
3. Candidate should have opted for Biology, Physics and Chemistry in Grade 12.

Candidate 1: Ram’s date of birth is 14-05-2001, with 40% marks in Mathematics, Physics,
Chemistry and Biology.

Candidate 2: Sham’s date of birth is 16-08-2000, with 60% marks in Biology, Physics and
Chemistry.

Who is eligible to write the NEET Exam?
aftemreft 1 3T 2 &= & Tr=ar 9o g

#< | Both candidate 1 and 2 are eligible.
haer Themdt 1 = arar g g

#<, Only candidate 1 is eligible.
Faer qdamedt 2 Fr grar areT 2

«'; Only candidate 2 is eligible.
o ar oeme 1 3R 7 & 2 F 9rvar v 7

# 4 Neither candidate 1 nor 2 is eligible.

QU0 = gar #4:

Ans

24 + (20-12 =3 x 8)="7?
Solve the following:

24__+ (20-12 + 3 x 8)="7
<13

v,y 2
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Question ID :9864493020
Status :Answered

Chosen Option :2
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X3 6
<4 3

Ul e & & *ie @1 Wt a3 =& 87
Which of the following is NOT a radioactive element?

Tgefaam

+'| Titanium
eI E =]

LY
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Ans

?{2, Plutonium
S iyrer)
K3, Thorium

mfaar

™~
K4_ Uranium

QL2 Prafai@a IRt # ¥ Fi9 a1 7iygy 791 ¥ gafog ag 22

Which of the following animals do NOT belong to the class of reptiles?
h 3T

e

# 1 Turtle
TG

?{2_ Crocodile
Agh
¥'3 Toad
TTT
X 4. Snake
QI3 rregfarer mac wRolt #, acat &t b 3R o sgafiaa frar

In the Modern Periodic Table, elements are arranged in:

Ans

7< increasing atomic mass number
TATO] HEAT H FAT
#, decreasing atomic number
# 3 decreasing atomic mass number
UTATY] HEAT H i
', increasing atomic number
Q14 oo FeaTg # T2 T S GFaT TH-gE W Rhdeir A e 87

How many times in a week does both the hands of the clock will coincide with each other?
Ans &1 160
v 168
<3 84
4. 56
Q.15
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Question ID :9864493586
Status :Answered
Chosen Option :2

Question ID :9864493515
Status :Answered
Chosen Option :3

Question ID :9864493553
Status :Answered
Chosen Option :4

Question ID :9864492534
Status :Answered
Chosen Option :3

Question ID :9864494056
Status :Answered
Chosen Option :2
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& 71§ 9eA-3pfa (Problem Figure) & 31§ 3cal-3mpfaal (Answer Figures) &
¥ wF F wieated g1 98 3co-3pia HiA o &7

Problem Figure

2 <

Answer Figures

SIS

The given Problem Figure is embedded in one of the given Answer Figures. Whiclyis that
Answer Figure?

Problem Figure

2 <

Answer Figures

[

Ans XD
v, B
<3 A
<4 C

Q16 IR sech + tanh = 4 @ A sec - tanf =? Question ID :9864492978
Status :Answered

Ifsecd + tand = 4,thensecf - tanf =7 Chosen Option :1
Ans % 0.25
<505
<3 0.75
K41
Q17 ey o R ¥ 37l T Reow ‘3o FREPT doow F TS affery  Question ID:0864492271

Status :Not Answered

& forw e U= hen TR har &2 Chosen Option :--

Which actress won the Kerala State Film Award for best actress in her debut film
‘Anuraga Karikkin Vellam™?

EIEG])

~ | Parvathy

Ans
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ufeen fEews
«, Rajisha Vijayan

o=l 2T T
/<3 Anna Reshma Rajan

fosirer w=oe
/<4 Nimisha Sajayan

U8 PR T A R IR T R F R T A F I I T (@) 5

QD Fig § AR HEaT #2016 F Fg TR & AE 3§ IHEH U 2@ WA

Ans

gAY & (@)1

FAT HTH OF Tk FaT Hgald FLAT AT FA g AT T gEATeT Fr
FHTEITE & S seor 2 27

T 1 T T NgAd B o o 39 38 Pufy g g e o
T BT @ 9er afET & Y smEeTear A8 B

aF 2 : AEF &9 F gAT a0 & o 3 Agaa #

Read the given question and decide which of the following argument(s) is/are strong.

Should you work hard till you make your signature into an autograph?

Argument 1: Work until you no longer have to introduce yourself.

Argument 2: Work hard to become financially secure.

1 3k 2 2t gem=arEr FE

#< 1 Neither argument 1 nor 2 is strong.
1 3 2 St gERTEr 2

/<, Both arguments 1 and 2 are sfrong.
Sheel I 2 TEETC & |

7<3 Only argument 2 is strong.
o dF 1 FeaaRTel F

« 4 Only argument 1 is strong.

(3T 3w T T2 Frew) T ga 82

Which Indian actor won the Ordre des Arts et des Lettres (Order of Arts and Letters) from

the French Government in 20167
FTTH W
# | Anupam Kher
FHST g
%7 Kamal Hassan
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Question ID :9864494244
Status :Answered

Chosen Option :4

Question ID :9864492283
Status :Answered

Chosen Option :4
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ATAT e
3. Nana Patekar
T T=aa
K-4_ Amitabh Bachchan

Q20 gfer 19 x 23 =437 &, ar 190 x 0.023 =?

Ans

19 X 23 = 437. Then 190 X 0.023 =7
<1 437

X, 0.0437
<3 0437
¥4 4.37

Q2 ofy T v agea # 9% ug # g 3R ¥ 3wy Pufy & wgEw 1,23,

Ans

F FH § Tt @ weitia o s, & 9t F e Suiie st &
Tl AT e Frem?

R+JM2$#QR?+0O@7F3

If each term in the given sequence is assigned number 1, 2, 3... according totheir position
from the left, then the sum of the numerical values of the positions of the symbols will be

R+HIM2$#QR2*O@7F3
v, 49

<, 48

<3 44

<4 51

Q2 & =% s@en &# W BT & 9= Hi

Ans

Q.23

Ans

I J|L e

(a) (®) © ) (e)

Select the odd figure out of the following figure series.

I [
(a) (b) c) {d) (e)
()
xp. ()

(a)
<, (@)
(d)
v’ (d)
(b)
x4, (b)
11 S 2018 3 IFAR gl 1156 2019 1 i @7 o7 gem

11 January 2018 is a Thursday. On which day will 11 June 2019 fall?

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537113756582100001

Question ID :9864492680
Status :Answered
Chosen Option :2

Question ID :9864494022
Status :Answered
Chosen Option :1

Question ID :9864494186
Status :Answered
Chosen Option :3

Question ID :9864492793
Status :Answered
Chosen Option :4
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FeTeER
«'| Tuesday
Tqar
?{2_ Sunday
HHIR

7<3 Monday
ESCIEY

=

<4 Wednesday
Q2% frw v god W AR &t A a7 F & Tt == § o Fig-a Fu= Question ID :9864493956

Status :Answered

9% T 3cal & & T T %I Chosen Option :4

50 TET Fr Tk FeT H FW T X & TATT &1 g2
FUT

1. Y & 0T X & 4 Tu=T == & 3T & & 30ar 2
2. Z &l T X T 2 T F9T § AT A & 32471 B

Consider the given question and decide which of the following statements(s sufficient to
answer the question.

What is X’s rank from the top in a class of 50 students?

Statements:
1. Y’srank is 4 ranks below that of X and 30th from the bottom.
2. Z’srank is 2 ranks above that of X and 32nd from the bottom.

foT 7T 9o7 1 Iew 7 F e 1 3k 2 @t wreT
7<1 Both 1 and 2 are sufficient to answer the given question.
fow aT go7 # sEe & F T ar ar 1 T 2 I B
«', Either 1 or 2 is sufficient to answer the given question.
<3,
T =TT G9F FT o7 2of & AT 2 T TATT 2, et 1 b gIT Far
gl

2 alone is sufficient while 1 alone is not sufficient to answer the given question.
x4
T 3T g9 T 3cat &4 & [T 1 kel TS &, FaTeh 2 Heholl G Al

gl
1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Q25 frar wreamait #7 it 6 ¥ A @ & TEms a7 stwa 5 Ay MR fEE E QuestionID 9864492738

Status :Answered

FT 8 & d=r §@e 4T 22 Chosen Option :4

The average of three numbers is 6. The average of the first two is 5 while the average of

the last two is 8. The three numbers are:
Ans £ 1. 2,7,9

<5 3,7.8
<3 2,6,10

Ans
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v, 2,88

Q2 Zroamap A B ThER FFAA: 372 et AN 45 Bere Fswwwa ¥ @t o Question ID :9864492472

Sta'tus :Not Answered
Ter &1 Ehr 30 e & s SN, A TETB A Brecacar aeramar | Chosen Option -
gl

Two valves P and B can fill a sump in 37% minutes and 45 minutes respectively. Both

valves are opened. The sump will be filled in just 30 minutes, if valve B is turned off
after:
5 e
.?'(.1_ 5 min
10 fA=E
#5 10 min
6 fo=re
Kﬂ3_ 6 min
o e
¥ 4 9 min
Q27 <igAT T Heg I Teh TS T A 300 N | T & Felg 9T 36T oI5 T AL 21T Question ID :9864493119

Status :Answered
The weight of a boy on the surface of the moon is 300 N. The weight of the same boy on Chosen Option :1
the surface of the earth will be:
Ans £ 1. 300N

v5 1800N
<3 50N
K4 5N

Q28 Q]%T U am V ﬂ' 9 m 'qé' ﬂ- m é‘l Question 1D :9864494037
’ ~ Status :Not Answered
oTeT W, 22T U & 5 feideT efdor #r 31T &l Chosen Option :—-
oEY X, 9T W T 3 Toraraier afdasm &r 3w &
el Y, 2@ X ¥ 5 ThelidAeT 3ca &6 3T 21

oTgY Z, 9ET X ¥ 7 faneirsfer ef@or &r 37 &

Ans

FIT ¥ ey d@efr @ w B 22

City U is 9 km towards the east of City V.
City W is 5 km towards the south of City U.
City X is 3 km towards the west of City W.
City Y is 5 km towards the north of City X.
City Z is 7 km towards the south of City X.

Which of the cities lie on a straight line?
Ans -K.l. YWU
<o UVW
<3 UXZ
Wy XZY

Status :Answered

F v H FT ﬁ-'l?fl;w'_rl' &ar T é'? Chosen Option :3

Who has been appointed as the Chairman of the State Bank of India (SBI) after Arundhati
Bhattacharya retired?

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537113756582100001 11/28
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Ans

Q.30

Ans

Q.31

Ans

Ans

Q.33

T FT

#<1 Rana Kapoor

IEZUESEERIG]

?‘:-2_ Kishor Kharat

m?rm«rgmw

«'; Rajnish Kumar

F. IFeHET

K.4_ K Venkataraman
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A

-

STl &l

e

HIEAr %

200

150

50

200

100

66.6

150

50

100

A
B
c
D

120

90

25

&I 91T 2T & U 9, AT A & TERAT Jiaera

City | Population | Literate | Illiterate | %o of
literates
A 200 150 50 -
B - 200 100 66.6
C 150 50 100 -
D 120 - 90 25

&

Based on the given data, the percentage of literates in City A is

<170
75 65
W3 75
<4 80

A= & &Y,
-8)[36 « {7 (-2))] = (- HA9- (-3) x (-5)} =?
Solve the following:

X1 -4

v, 2
~3 4

Ky -2
Q32 3g, 72 3t 126 1 7.8, faar grem?

What is the HCF of 36, 72 and 1267

<19

<, 36
v3 18
K4 12

8)[36 + {7- (2] = - H{19-(-3) x (-5)} =7

Question ID :9864494076

Status :Answered

Chosen Option :3

Question ID :9864492919
Status :Answered

Chosen Option :2

Question ID :9864493023
Status :Answered

Chosen Option :3

fordr gea & 3fex AT T weaior 3R a9 & ramal & a7 gRm? QO Pogead02804

The ratio of the areas of a square and a regular hexagon. both inscribed in a circle is?

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537113756582100001

Status :Not
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Ans (1. 4 3@
K2.2:3
X3 1:4/3
X4 3V3:2
Q34 rafaf@a # ¥ &9 @ Fu 7o &7
Which of the following statements is INCORRECT?
Tery & Fuil & &= # oa v g
#<1 The particles of matter have spaces between them.
gardt & ur fRw warr 7 @9 g
«', The particles of matter are in stationary state.
veref & FUT T ZEY F HHET WA F
#< 3 The particles of matter attract each other.

geTe % FUT 9gd DI B g

/< 4 The particles of matter are extremely small.

Q35 fow v eredl # & WY AT AET F1 =939 FL

Ans

sTgfaer @ g0

Select the correct analogous pair from the given alternatives.

Bible : Quran
T TR
«'| Apple: Orange
HITETA H?q-l__}'ﬂ'

Ans

#5. God: Man
wfex : ardaw

/<3 Temple : Pray
9T - EE

#<4 Worship : Place

Answered
Chosen__
Option :

Question ID :9864493608
Status :Answered
Chosen Option :2

Question ID :9864493714
Status :Answered
Chosen Option :1

Q36 ger 3faT 0T ve GHETGS 40T & Ty 20 23l & Fior 99T gU Tt QUeion Pog6a403623

giar §1 3mafaqg 3T et Bt & $= #r For gl

An incident ray strikes a plane mirror at an angle of 20° with the mirror. The angle

between the incident ray and reflected ray is
Ans .?{1_ 5Q°
v 140°
X3, 40°
K4 20°
Q.37

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537113756582100001

Status :Answered
Chosen
Option :

Question ID :9864493747
Status :Answered
Chosen Option :3
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92 ©fd (Problem Figures) #=r fdw a1v =i f@sredl (Answer Figures) &
oy v F wfeafea &1 sasv & 92 ofF (Problem Figures) 37 IR
fawedt # & frmd oo g5 €7

Problem Figure

/]

Answer Figures

A B C D

The below figure is embedded in one of the four answer figures. Which of the figures
contain the below problem figure?

Problem Figure

/]

Answer Figures

B C D

A
Ans 2'(1_,1\
X, B
w3 C
X4 D
Q38 Rrmfafla 3egwe & 39T X 2T I8 fonfiftd ¢ 7 fear omar st @

e 3@ @g # =71 2

RB75E%M3W48Q9#B2ASMS

Using the following sequence, determine which of the given options does not belong to
the group.

RB75E%M3W48Q0#B2ASNMS
Ans &1 B%4
<, REW
.K-3_ 3Q2
v, 4AHM
Q39 oo forew® I W 9w HCIStE #r &/ B g & 2

What is the action of dry HCI gas on dry litmus paper?
e a1 o e Y H9ST TT FLr ST ¢ |

Ans «'| Blue or red litmus paper does not change its colour.
e foead IR o T # 9Rafag gt e g
/<, Blue litmus paper turns red.
oo freww SR @ 1 F oRafda & e
/<3 Blue litmus paper turns white.
e PeAw 99 el T & 9iEfag & e g
/<4 Red litmus paper turns blue.
Q.40

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537113756582100001

Question ID :9864493929
Status :Answered
Chosen Option :1

Question ID :9864493467
Status :Not Answered
Chosen Option :--

Question ID :9864494216
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wmwﬁ?aﬂmm%, 'Wﬁ@ﬁﬁ?ﬁm?'lﬁ? Status :Answered
£r ﬂgﬂ' =g AT £ Tt '@I‘ Q—T\ﬁ' mﬂ' %.,) Chosen Option :2
A man looks at a portrait and says, “She is my Father-in-law’s only grand-danghter”. How
is the girl in the portrait related to this man’s wife?
ST/ 37T
1. Niece
e
«, Daughter
AT

?('-3_ Mother
dgel

X4, Sister
Q4! arT Fedl i AW FEAW: F(9), P(15), CI(17), Ar(18) &I e & & T @ Question ID :9864493554

Status :Answered

geat garafas T A R Chosen Option :4
|

Atomic numbers of four elements are as follows: F(9), P(15), CI(17), Ar(18). Which of the
following two elements would be chemically similar?

FakP
A | FandP
Cl ik P
A, Cland P
F 3T Ar
A3 Fand Ar
F 3kt CI
¥, FandCl
Q.42 ﬁ?aa- qarg # ;“-qﬁ- a; ﬁ-q- ﬁﬁﬁﬁﬂ- 93'- @- EI-';T?-I' T IF-T WT ﬁ;ﬂ- =TT %—7 Question ID :9864493525

Status :Answered
Chosen Option :2

Ans

Ans

Which of the following instruments is used to measure electric current?
Freaaiader
K'l' Galvanometer
THEART
> Ammeter
FrecHET
/3. Voltmeter

faete

/< 4. Rheostat
Q.43 Question ID :9864494135
Status :Not Answered
Chosen Option :--

Ans
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Q.44

Ans

Q45
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fow av a7 3@ & HFER FAT H T o HT FEA SN A A veede § 3R

o & ezt & frael 32

— Atlhletics

l_] - = Boys (__)
/’_\_ = Hrls — —_—

Trigciplined

Boys -oi5%
Athletics -T&emsr
Girls -esfaar
Disciplined -aranfaa

According to the given Venn diagram, the number of boys who are neither athletes nor
disciplined is

(.
SN ——— ainls
<1

v, 10

<3 11

<4 7
ABEIST TLA] H LT Fggiar S T e 82
The number of neutrons present in a nitrogen atom is

<15

x> 14

Vi3 7

VIR Y

Arldetics

Bowa p 4 -

— -

Drizciplined

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537113756582100001

Question ID :9864493490
Status :Answered
Chosen Option :1

Question ID :9864494228
Status :Answered
Chosen Option :4

16/28



9/17/2018

Ans

Q.46
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et ma N R AN AR T radascaR T FRr = a7 T
Fa @ Fua oo §

Hqoe 1 3 R &2
FYA:

1. HOTe #T A 388 20 a¥ a2 &
2. HUTS &I TS 38T Jo=l H 3 W OIer g

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How old is Mrinal?

Statements:

1. Mrinal’s mother is 20 years older than him.
2. Mrinal’s brother is 3 years younger than him.
<1,
BT =TT 9o FT 3o 2 & AT 1 33ar gureg &, SEfe 2 3¥Fer gued JEr
gl

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
guestion.

x5

BT =TT 9o FT 30X & & AT 2 33ar 9arcy &, F9i6 1 39bar gareg J8&r
gl

Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.

3,

fow aTT woF T 3007 &0 & forw 1 3T 2 St v @y watem ¥, afee gt
3ehel TATST a2

Both statements taken together are sufficient to answer the question, but neither statement

alone is sufficient.
vy

foT 71T 937 #1 3ca? &7 F v 1 3y 2 3= v @y waTg 7@ §, 3R T
F 3cR & & fow sfaRea s Fr T g

Statements 1 and 2 together are not sufficient, and additional data is needed to answer the
question.
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Question ID :9864493078
Status :Answered

Chosen Option :2
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o #1 v 3T agea # smafiaa &1

A FAfEaH

B SdAATCH® [&erel
C Wiplae Iae

D farm

Arrange the following in a proper sequence.

A Mutation
B  Reproductive isolation
C  Natural selection

D  Evolution
Ans #; D.C,B,A

2{2_ C.,B,AD
(3 A—: B: C: D
Kr4_ A—: C: D: B
Q.47 ;J-% THSHIOT 3x2 - ax + 6 = ax? + 2x + 2 ﬁ{ﬁ TS ﬁ (W) ;:F,r Eﬂ' Question ID :9864492796

Status :Not Answered
ar a T UATcHS AT &7 gem? Chosen Option :--

If3x* - ax + 6 = ax®* + 2x + 2 has only one (repeated) solution, then the positive
integral solution of a is:
Ans ‘_fl_ 2
?(2_ 4
2(3, 5
?{4_ 3
Q48 geafies & wE ¥ T W WERE T Question ID :9864493867

Status :Answered
Chosen Option :4

Problem Figure

Answer Figures

b
|/ ]

1 2 3 4

Choose the correct figure that replaces the question mark.
Problem Figure

Answer Figures

]

1 2 3 4

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537113756582100001 18/28
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Ans }(1' 1
<22
<3 4
v, 3
Q4 fary 7 faw v waft S & AR W st R e

AT
Y~
<s. ]

. --\"-\:;'*
"4, ELI‘J
Q0 P F & FiF v add SEeEe § SEa 9§ 2017 # o9Rg @R @

gfafed = @rae 9rea &ar?

Who among the following is an Indian gymnast who received the prestigions Padma Shri
Award in 2017 by the Government of India?

drar. fiy
#1. PV Sindhu
arefr Afers
5. Sakshi Malik
FIA® g9
#< 3 Koneru Hampy
&7 AT
« 4 Dipa Karmakar

Ans

Q.51

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537113756582100001

Question ID :9864494229
Status :Answered
Chosen Option :2

Question ID :9864492379
Status :Answered
Chosen Option :4

Question ID

9864492747

Status :Answered
Chosen
Option :
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¥ 2250 Fr A 9T 3% FIROT TS I T o7 T 2 Jut F fohgar =g

qreT gem?

The interest earned on ¥ 2250 at the rate of 3% simple interest per annum for 2 years will

be:__
Ans 4 1. 225

X, T67.50
~3.7202.50
V4 T135

O B # & Fi W uig w9E HfUE e §7

Which of the following metals is the most Malleable?
Ans 1 Na

X, Ag
<3. Zn
x4 Al
Q53 wradl 2018 B TUEAS AT & Ffaae # AT g@T AT 75 #iT &
Who is the Human Resource Development Minister in Prime Minister Modi’s cabinet as
of February 20187
T 7
# 1. Suresh Prabhu
SpHTer 3RA
?('2. Jual Oram
AT Teft
3. Maneka Gandhi
JHIT AR
¥ 4. Prakash Javadekar
Q3 frg o RBemdr ¥ 2017 & doew Jud 9w dsfHied gAwe Siar ar

Which Indian player won the Yonex US Open Badminton Tournament in 20177

Hreria forae

/1. Srikanth Kidambi
T=I.TH. JUMT

«, HS Prannoy
HAT SHAITH

/3 Ajay Jayaram
THIT FAT

K-4 Sameer Varma

Q55 Frrafafre & & Hher o urg et 31w s ¥

The most reactive of the following metals is:
Ans ¥ Ca
<. Pb
?‘4"3_ Ni
X4 Al
Q36 fardt avg & 3915 ¥ ey W swdr ufaw sk afos = 1 FT BT 7 2
What happens to the Potential and Kinetic energies of a body as it falls down from a

height?
Ans

Ans

Ans
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Question ID :9864493392
Status :Answered
Chosen Option :1

Question ID :9864492227
Status :Answered
Chosen Option :1

Question ID :9864492300
Status :Not Answered
Chosen Option :--

Question ID :9864493071
Status :Answered
Chosen Option :2

Question ID :9864493382
Status :Answered
Chosen Option :3

20/28



9/17/2018 Qp (1).html - Zoho Mail (contact@bankersadda.com)

saer TRufasr it oifasr w= & g Sl &

#< Its Potential and Kinetic energies decrease.
suhr feufas s ag oneh B, 5=l ofas = g2 s &

#<, Its Potential energy increases while its Kinetic energy decreases.
sHer ufas 1 &7 & A g, A9t Afas FA 96 A § |

' Its Potential energy decreases while its Kinetic energy increases.
sueh feufas o ofas 7= & =15 oiEaa F@ g g |

/<4 There is no change in its Potential or Kinetic energy.

Q57 ey wer & ZTEON ST F TR Fow e, &F ATSar & Seer 9T fBug £ gy Question ID 9864492134

Status :Not Answered

ar FlﬁTIT HieT T %'? Chosen Option :--

Kolleru Lake, located in the southern state of Andhra Pradesh, is located at the delta of
two rivers. Which are the rivers?

FeoT 3R FEE

7| Krishna and Cauvery
Tiererr 3R AT

?{'2. Godavari and Mahanadi
gometer 3T Rrarach

#< 3 Tungabhadra and Chitravathi
gl 3k o

4 Godavari and Krishna

Q.58 Question ID :9864493688
Status :Answered
Chosen Option :2

Ans
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Ans

Q.59

Ans

Q.60

IS T AB 1@ 9T W@ ¥ fAffa w2 = (Problem figure) @ gdur gfafes
grem?

Problem Figure

o
= B
Answer Figures
® ) ®
I|
° o =
A B c D

Choose the correct mirror image of the problem figure when the mirror is held at AB line:

Problem Figure

°
) B
Answer Figures
° 7 °
I|
° o =
A B c D
XD
v, A
<3 B
<4 C
FO O U Uled # 55 & | 86 9fad # X & ¥ 91¢ & 1747 § &t Y Question ID :9864494124

Status :Answered

T T aifged W 1437 Bl T F A W9 WIS T H aRafdd & of df X Chosen Option :2
F FAT AT 741 @ Sl 21 TFT A Feor e o §2
Students are sitting in a row in which the position of X is 17th from the left and that of Y

is 14th from the right. If they interchange their positions, X's position becomes 7th from
the left. How many students are there in the row?

<119
< 22
v3 20
x4 21
EF:T'ClT W ohl GIT:ﬂ'ZI' ﬁﬂ'ﬂ?{; Question ID :9864493169

Status :Not Answered
Aqueous solution of copper sulphate: Chosen Option :--

arer 31T e g1t foeAT & wenfdg wear &
1. affects both red and blue litmus.

=rer foreaw 1 o T & uiafaa swarg

v, turns blue litmus red
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foreraw @ vsnfaq ¢t wear &
3. does not affects litmus

et foreAT & Ay Tr F ofEfdg s=ary

#<4. turns red litmus blue

Q61 2018 #T 3T H REarer ML Foell SHAE & ¢ W3t & 77 & FH Question 1D :9864492258

Status :Answered

ﬁrﬂﬁ Twar T %'? Chosen Option :3

Who took over as the new CEO of IT giant Infosys at the beginning of 2018?
T'?'I:TI?T AT
Ans 3

#< | Raghuram Rajan
foremer o=t

5. Vishal Sikka
Helrel 9T

+'3 salil Parekh
gt AT

K'4. Rohan Murthy

Q62 diey R A & HTET § 3R ol 9R B T @ ITOT g1 T TH & FHa W, wh  Question ID 9864492930
! Status :Not Answered

& A ¥, v gEY F Ul F T e A ow a § e el Chosen Option :--
e & 3l 9= I S e E 9T & e & 91, e 39w fged

aF Tgaa & T 13.5 U & WA AT g, ik o H W F M TR

Tgae H 6 U F9IT g1 3PN WX v afy 30 Teheiee Wi wer @ ar e

£ T e feer 9 ge7 4

Peter belongs to Town A and Paul belongs to Town B: They start their journeys towards
each other’s towns following the same route at the same time. They meet somewhere on
the way and continue with their journeys. After meeting Paul, Peter takes another 13.5
hours to reach his destination while Paul takes another 6 hours to reach Peter’s town. If
Peter travelled at the speed of 30 kmv'h, what was Paul’s speed in km/h?

Ans K 1. 40
¥ 45
<3 475
74 425
.63 virp oy HTRT eirp=y TOT ﬁm . tion ID :9864494264
) ﬁtr = 7 # . o ? ! @- aﬁ:l Ques lggitus :Not Answered
‘EﬂET . tﬂ?ﬂ' Chosen Option :--

Select the word pair that is analogous to the given word pair.

Horse : Pony
AT AYHAFET © AT AYHFE
?('1' Drone : Bee
§er ; 9ar
2{"2_ Son : Daughter
fegor © feofr
/<3 Stag:Doe
#HIST : Soot (Larva)
4 Insect: Larva

Ans
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QA Roaw pa R R 3R AT i T F R e s v = o Question ID :9864494052

Status :Answered

FidT TT FUT TAT gl Chosen Option :3

15 STa=r 2017 & X &1 3G &= fr?

FUA:

1. X 39 9€ Y & 50 I§ &7
2. Y HUS AT ¥ 20 a¥ ©rer gl

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How old was X on 15 January 20177

Statements:

1. Xis 50 years older than his brother Y.
2. Y is 20 years younger than this mother.

o v wea & 3 & F o 1 3k 2 @& w2
#< 1 Both land 2 are sufficient to answer the given question.
X2,
3 7T 99T FT 3o &7 & [T 3Fem 2 TUT g elfehe el 1 TUT~T =1ar
gl

2 alone is sufficient while 1 alone is not sufficient to answer the given question.
AT A F I T F Be A ar 1 33 T & 2 93T &
o 3 Neither Inor 2 is sufficient to answer the given question.
x4,
3 7T 99T FT o097 21 & 00 Fhem 1 GUT & elfeheT el 2 TUTST =ar
gl

1 alone is sufficient while 2 alone is not sufficient to answer the given question.
Q.65 Question ID :9864493896
Status :Answered
Chosen Option :3

Ans

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537113756582100001 24/28



9/17/2018 Qp (1).html - Zoho Mail (contact@bankersadda.com)

AT 1 AT T ST H oA g SR e T@H H A YAaH A 2

What is the minimum number of straight lines required to construct the following figure?

Ans Kﬂl. 11
<212
V3 13
<414
Q66 i Rfere Jgener WftERToT (3.8 s & HiSaT (Fadr 2018 ®) Question 1D 9864192405 |
HieT %'7 Chosen Option :--
Who is the CEO of the Unique Identification Authority of India (UIDATI) as of February
20187
AT SWOT IS
Ans
+'| Ajay Bhushan Pandey
e aEATT
K-z_ Anil Dhasmana
e ool
/3, Nandan Nilekani
e Srarer
/<4 Ajit Doval
Q67 250 FT 38% FaEes STt 22 Question ID :9864492726
Status :Answered
38% of 250 is equal to: Chosen Option :2
Ans X 104.5
¥, 05
<376
<4 114
Q68w eafay gt &r Hgfed 4 fraigesr & 3T a0 & 40 §EHART ) ar == Ques;gf9864493284
d@T gan 3.2 faraidey @ gt 9 F= # fhder &g «@nm: Status :Answered
Option :

A sound wave has a frequency of 4 kHz and a wavelength of 40 cm. The time taken by the
sound wave to travel a distance of 3.2 km is:

0.5 ¥z
X1 05s

1.0 Tz
X, 10s

Ans
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4.0 ¥h3
<3 40s
2.0 T&hs
w4 20s
Q69 e ”I@T"T -ﬁ-’ e e (2) ganT ot =it T Hﬂq‘ﬁﬂa’ %, BT Question ID :9864494173

Status :Answered

T fFear Feafeurd HEAT & I99T FI) Chosen Option :3

8,12,16,20,?

In the following series, one number is missing as shown by the question mark (?). Select
the missing number from the given options.

8,12, 16,20, 7
32

<. 32
22

<y 22
24

W3 24
26
Kﬂ4_ 26
Q.70 Question ID :9864493656

Status :Answered
Chosen Option :2

Ans
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e fav aT B & 9’ 3caY arer °F (Answer figures) § W U H Aiedfgd

o arar &1 3T @HEEr 2T (Problem figure) AT o= aram Ter
ErHlaard

Problem Figure

Answer Figures

A B C D

The below figure is embedded in one of the four answer figures. the correct figure
containing the above problem figure is:

Problem Figure

Answer Figures

2

A B C D
Ans K| C
'_fz, D
~< 3. A
?(4_ B
Q.71 2% FT agam %.: Question ID :9864492582

Status :Answered
Chosen Option :4

Reciprocal of 2 g
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Q.72

Ans

Q.73

Ans

Q.74

Ans

Q.75

Ans

Qp (1).html - Zoho Mail (contact@bankersadda.com)
3
X352
5
v, E
T7E T 1000 FT T YA 3 T H Thglg eATT T & H < 1331 & AT &, A ST HT
A &I AT T

If sum of ¥ 1000 amount to ¥ 1331 in 3 years, compounded annually. Then, find rate of
interest per annum?

<1 30%
5 20%
V'3 10%
K4 15%
TH gU A A el AR ;L F I 2.7 §1 FH T gT A F 9 FheirarH
#H A F $o 3R Al e g # 25 T G A F ag #; e

e Femg?

The initial ratio of sugar to flour in a dough was 2 : 7. To 9 kg of the dough John added
more sugar to make the sugar to flour ratio 2 : 5. How much sugar did John later add?

1 ferettama
< 1kg
1.2 fratems
v, 1.2kg
750 ATH
X5 750¢g
300 TIATH
X, 800g
g TG« —ax + b F LA 3 34, A 2 3 b F AT FAU: E:
If the zeroes of the polynomial x* — ax + b are 3 and 4, then ‘a” and ‘b’ are respectively
equal to
<1 4.3
K, 12,7
<3 3,4
v, 7,12
5 A 3o R eewe & TRAT TR H IeAaa HioT 30°. gl T ceewH

3R erEx & @ # g 4043 e @ ar TR I FaArs el 87

From the top of a platform 5 m high, the angle of elevation of a tower was 30°. If the
platform was positioned 40+/3 m away from the tower, how tall was the tower?

40 #AreT
Kﬂl. 40 m
3043 #Arex

75 30V3m
20v3 #Arex
X3 203 m
45 Hrex
W, 45m
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Question ID :9864492566
Status :Answered
Chosen Option :3

Question ID :9864492745
Status :Answered
Chosen Option :4

Question ID :9864492535
Status :Answered
Chosen Option :4

Question ID :9864492697
Status :Not Answered
Chosen Option :--
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